

```

restart;with(student);
# question 1
a(n) := 1 - 1/n;
Limit(a(n), n=infinity)=limit(a(n), n = infinity);

$$\lim_{n \rightarrow \infty} \left(1 - \frac{1}{n}\right) = 1$$
 (1)
a(n) := (-1)^n;
Limit(a(n), n=infinity)=limit(a(n), n = infinity);

$$\lim_{n \rightarrow \infty} (-1)^n = \text{no limit}$$
 (2)
# no no limit
a(n) := (1+2^n)/(1 - 3^n);
Limit(a(n), n=infinity)=limit(a(n), n = infinity);

$$\lim_{n \rightarrow \infty} \frac{1+2^n}{1-3^n} = 0$$
 (3)
a(n) := (1/3)^n;
Limit(a(n), n=infinity)=limit(a(n), n = infinity);

$$\lim_{n \rightarrow \infty} \left(\frac{1}{3}\right)^n = 0$$
 (4)
# 7a
Sum((-1)^n*ln(n)/n, 'n'=1..8);# diverges

$$\sum_{n=1}^8 \frac{(-1)^n \ln(n)}{n}$$
 (5)
a(n) := (-1)^n*ln(n)/n;

$$a(n) := \frac{(-1)^n \ln(n)}{n}$$
 (6)
# integral test
g:=x->ln(x)/x;
Limit(int(g(x),x=1..X),X=infinity)=limit(int(g(x),x=1..X),X=
infinity);

```

```


$$\lim_{N \rightarrow \infty} \left( \prod_{k=1}^N \left( 1 + \frac{b_k}{a_k} \right) \right) = N \tag{9}$$

to the
O Limit(a(n), n=infinity)=limit(a(n), n = infinity); # nth term
goes to zero

$$\lim_{N \rightarrow \infty} \left( \frac{(N!)^2 b(N)}{N} \right) = 0 \tag{10}$$

O
O diff(g(x),x); # which is negative for x >= e

$$\frac{1}{x^2} \ln \left( \frac{b(x)}{x^2} \right) \tag{11}$$

O Sum('ln(n)/(n)', 'n'=1..N);# yields conditional convergence

$$\sum_{n=1}^N \frac{b(n)}{n} \tag{12}$$

O
O a(n) := 1/(n + n^2);

$$a(n) = \frac{1}{n^2 + n} \tag{13}$$

O Sum(a(n), 'n'=1..N); B(N) := sum(a(n), 'n'=1..N); Limit(B(N),
N=infinity)= limit(B(N), N=infinity);

$$B(N) := \sum_{n=1}^N \frac{1}{n^2 + n} \tag{14}$$


$$\lim_{N \rightarrow \infty} \left( \frac{N(2CN)}{2C^2 3NCN^2} \right) = 1$$

Limit compare b with 1/n^2
O b(n) := 1/n^2;

$$b(n) = \frac{1}{n^2} \tag{15}$$

O Limit(a(n)/b(n),n=infinity)= limit(a(n)/b(n),n=infinity);

$$\lim_{N \rightarrow \infty} \left( \frac{a^N}{n^2 C n^2} \right) = 1 \tag{16}$$

O # so it converges by limit comparison
O

```

```

O # 7c
O a(n) := n*sqrt(4 + n^5); Sum(a(n), 'n'=1..N); B(N) := sum(a(n)
, 'n'=1..N); Limit(B(N), N=infinity) = Limit(B(N), N=infinity);

```

$$\begin{aligned}
& \sum_{n=1}^N \frac{n}{\sqrt{4Cn^5}} \\
B(N) &:= \sum_{n=1}^N \frac{n}{\sqrt{4Cn^5}} \\
\lim_{N \rightarrow \infty} \left(\sum_{n=1}^N \frac{n}{\sqrt{4Cn^5}} \right) &= \sum_{n=1}^{\infty} \frac{n}{\sqrt{4Cn^5}} \quad (17)
\end{aligned}$$

```

O # so it converges
O # limit compare n with 1/n^3/2
O b(n) := 1/n^(3/2); # a known convergent series
B(n) := sum(b(n), 'n'=1..N);
Limit(a(n)/b(n), n=infinity) = Limit(a(n)/b(n), n=infinity);

```

$$\lim_{N \rightarrow \infty} \left(\frac{\sum_{n=1}^N \frac{n}{\sqrt{4Cn^5}}}{\sum_{n=1}^N \frac{1}{n^{3/2}}} \right) = 1 \quad (18)$$

```

O # so it converges
O a(n) := (abs(1 - 3*n)/(3 + 4*n))^n;
a(n) := (abs(1 - 3*n)/(3 + 4*n))^n;
Sum(a(n), 'n'=1..N); B(N) := sum(a(n), 'n'=1..N); Limit(B(N), N=
infinity) = Limit(B(N), N=infinity);

```

$$\begin{aligned}
& \sum_{n=1}^N \left(\frac{|1-3n|}{3+4n} \right)^n \\
B(N) &:= \sum_{n=1}^N \left(\frac{|1-3n|}{3+4n} \right)^n \\
\lim_{N \rightarrow \infty} \left(\sum_{n=1}^N \left(\frac{|1-3n|}{3+4n} \right)^n \right) &= \sum_{n=1}^{\infty} \left(\frac{|1-3n|}{3+4n} \right)^n \quad (21)
\end{aligned}$$

```

O # limit compare n with (3/4)^n/2

```

```

O b(n) := (3/4)^n;
      b(n) :=  $\left(\frac{3}{4}\right)^n$  (22)
O Limit(a(n)/b(n),n=infinity) = limit(a(n)/b(n),n=infinity);
      
$$\lim_{n \rightarrow \infty} \frac{\left(\frac{K1C14n^2}{1C14n}\right)^n}{\left(\frac{3}{4}\right)^n} = e^{\frac{3K1C14}{4}}$$
 (23)
O a(n) := (2^n)/(n!);
      a(n) :=  $\frac{2^n}{n!}$  (24)
O Sum(a(n), 'n'=1..N); B(N) := sum(a(n), 'n'=1..N); Limit(B(N),N=
infinity) = limit(B(N), N=infinity);
      
$$B(N) := \frac{\sum_{k=1}^N \frac{2^k G^k C 1; K G^k C 1;}{G^k C 1;}}{G^k C 1;}$$

      
$$\lim_{n \rightarrow \infty} \left(\frac{2^k G^k C 1; K G^k C 1;}{G^k C 1;}\right) = \lim_{n \rightarrow \infty} \left(\frac{2^k G^k C 1; 2; K G^k C 1;}{G^k C 1;}\right)$$
 (25)
use ratio test
O b(n) := (2^(n+1))/(n+1);
      b(n) :=  $\frac{2^{n+1}}{(n+1)!}$  (26)
O Limit(b(n)/a(n),n=infinity) = limit(b(n)/a(n),n=infinity);
      
$$\lim_{n \rightarrow \infty} \frac{2^{n+1}}{(n+1)! 2^n} = 0$$
 (27)
O # so it converges absolutely
O
O
O
O
O
O
O
O a(n) := 2/(4^n*2-1);
      a(n) :=  $\frac{2}{4^n K 1 - 1}$  (28)

```

```

O Sum(a(n), 'n'=1..N); B(N) := sum(a(n), 'n'=1..N); Limit(B(N), N=
infinity)= Limit(B(N), N=infinity);

$$B(N) := K \sum_{i=1}^N \frac{1}{4^i K^i} C^i$$


$$\lim_{N \rightarrow \infty} \left( K \sum_{i=1}^N \frac{1}{4^i K^i} C^i \right) - 1 \quad (29)$$

the ratio test
O b(n) := 2/(4*(n!)^2-1);

$$b(n) := \frac{2}{4 \cdot (n!)^2 K^i} \quad (30)$$

O Limit(b(n)/a(n), n=infinity)= Limit(b(n)/a(n), n=infinity);

$$\lim_{n \rightarrow \infty} \left( \frac{\frac{2}{4 \cdot (n!)^2 K^i}}{\frac{1}{4 \cdot (n!)^2 K^i}} \right) - 1 \quad (31)$$

O # that test fails, so use a limit comparison
Limit compare with (1/n)^2
O b(n) := (1/n)^2;

$$b(n) := \frac{1}{n^2} \quad (32)$$

O Limit(a(n)/b(n), n=infinity)= Limit(a(n)/b(n), n=infinity);

$$\lim_{n \rightarrow \infty} \left( \frac{\frac{1}{4 \cdot (n!)^2 K^i}}{\frac{1}{4 \cdot (n!)^2 K^i}} \right) - \frac{1}{2} \quad (33)$$

O # it converges
Math says it does not converge absolutely but we may still have cond. conv., so #
O # ?
O a(n) := 2*(2^n)/(5^n);

$$a(n) := \frac{2^{2n}}{5^n} \quad (34)$$

O Sum(a(n), 'n'=1..N); B(N) := sum(a(n), 'n'=1..N); Limit(B(N), N=
infinity)= Limit(B(N), N=infinity);

$$B(N) := K \sum_{i=1}^N \left( \frac{2}{5} \right)^{n C^i} C^i \quad (35)$$


```

```

sum_n (K*(1/5)^n*(C+4))=4 (35)
# a geometric series
#
#7b
g:=x->1/(x^2)*ln(x);int(g(x),x)=int(g(x),x);
limit(int(g(x),a=2..x),x=Infinity)=limit(int(g(x),a=2..x),x=
Infinity);
g:=x->1/(x*ln(x))
int(1/(x*ln(x)) dx=ln(ln(x))
sum_n (int(1/(x*ln(x)) dx))=N (36)
# it diverges by the integral test hence we have conditional convergence
#7c
a(n):=(-1)^n*(ln(n)/n^3);
a(n):=(-1)^n*(ln(n)/n^3) (37)
#sum(a(n), 'n'=1..N);
sum_n (a(n))>K*(1)^n*(ln(n)) (38)
g:=x->ln(x)/x^3;int(g(x),x)=int(g(x),x);
limit(int(g(x),a=2..x),x=Infinity)=limit(int(g(x),a=2..x),x=
Infinity);
g:=x->ln(x)/x^2
int(ln(x)/x^2 dx)=K*(1/2)*ln(x)-1/(4*x)
sum_n (int(ln(x)/x^2 dx))=1/8*ln(2)+C-1/16 (39)
# so it absolute converges by the integral test
#
#7d
#
#7e

```

```

O a(n) := (-1)^n*n/3^n;
a(n) := (K1)^n/n
(40)

```

```

O Sum(a(n), 'n'=1..N);
sum_{n=1}^N (K1)^n/n
(41)

```

```

# ratio test
O b(n) := (n+1)/3^(n+1);
b(n) := nC1/3^(n+1)
(42)

```

```

O Limit(b(n)/abs(a(n)), n=infinity) = limit(b(n)/abs(a(n)), n=
infinity);
lim_{n -> infinity} (nC1 / (3^(n+1) * |(K1)^n/n|}) = 1/3
(43)

```

```

# hence absolute convergence
O Sum('1/ln(n)), 'n'=1..N);
sum_{n=1}^N ln(n)
(44)

```

```

# integral test
O g: x -> 1/ln(x);
limit(int(g(x), s=2..X), X=infinity) = limit(int(g(x), s=2..X), X=
infinity);
lim_{X -> infinity} (int_2^X (1/ln(x)) dx) = N
(45)

```

This document was created with Win2PDF available at <http://www.win2pdf.com>.
The unregistered version of Win2PDF is for evaluation or non-commercial use only.
This page will not be added after purchasing Win2PDF.